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UVET 3
Aim: To review all the points of concurrency.
1. Point Q represents which point of concurrency?
centroid
?. incenter
¢. orthocenter
d. circumcenter

REvIgw!

9. Which point of concurrency is the intersection of
the altitudes of the triangle?

a. centfroid

b. incenter

(€)orthocenter

2. Point P represents which point of concur‘r‘en
a. centroid
@ incenter
¢. orthocenter
d. circumcenter

3. Point P represents which pomt of concurr‘ency"

a. centroid

b. incenter
c. orthocenter

4. Point T represents which point of concur‘rency?

a. centroid

@circumcen?er'
b. incenter ‘G
¢c. orthocenter u é"

(@ circumcenter
W

p

5. Point M represents which point of concur‘renscy?
a. centroid
b. incenter
¢. orthocenter
@)circumcenter

b}
}'

6. Point M represents which point of concurrency?
a. centroid
b. incenter 4
?orthocenter‘

. circumcenter 8 L ¢

7. Point L represents which point of concurrency? y
a. centroid
@ incenter
c. orthocenter
d. circumcenter

8. Which point of concurrency is the intersection of
the medians of the triangle?
@) centroid
b. incenter
¢. orthocenter
d. circumcenter

@ always

@always

—— ¢ d. circumcenter

10. Which point of concurrency is equidistant from
the three sides of a triangle?
a. centroid
(B)incenter
c. orthocenter
d. circumcenter

11. Which point of concurrency is equidistant from
the three vertices of a triangle?
a. centroid
b. incenter
c. orthocenter
@ circumcenter

12. Which point of concurrency is the center of
gravity of a triangle?
(@ centroid
b. incenter
c. orthocenter
d. circumcenter

13. Which point of concurrency is the intersection of

© the perpendicular bisectors of the triangle?

a. centroid

b. incenter

c. orthocenter
@circumcanter‘

14. Which point of concurrency is the intersection of
the angle bisectors of the triangle?
a. centroid
incenter
¢. orthocenter
d. circumcenter

15, The centroid is
b. sometimes

in the triangle.
c. never

16. The incenter is
b. sometimes

in the triangle,
c. never




17. The circumcenter is in the triangle.
a. always @someh‘mes ¢. never

18. Jomnsider the diagram below: a] What is the point G called? LM CEN TER

2

5 Y b] It must be that GB = GC (TRUE « FALSE)

E ¢] It must be that mZDCG =mZECG (TRUE  FALSE)
G i~
d] It must be that mZABD =mZCBD (TRUE FALSE)

B e] If mLDAF =25° and m£DCG = 29°  whatis

7/
F ZABD
" 25+65=93 '[3 (gasp=wss)\

—

Consider the diagram below: 17 i
19. . a] What is the point B called? F e TS

CIRCWmeL NTER

S PR i S
b] It must be that SB = RB = OB (TRUE  FALSE)
c] It must be that MZSOB = m£ZROB (TRUE FALSE)

0 d] B would be located outside of the triangle if the tiangle
‘ was...

(1) acute (2) pbtuse
¢] If this were a right triangle. then B would be located:

On the hypotenuse of the triangle
2) On the vertex of the right angle of tlie triangle

20. Consider the diagram below:
N a] What is the point S called? CENTROEZ])

b] If m@— =24 find mi\TS and m?é.

3
16 ¢
' e - _—
c]If mSP =7 . find mMS and mAP.
1Y 21
M 3 d] It must be that SP = SO (TRUE - FALSE)
L

e] It must be that ZMNQ = ZQNL (TRUE ‘' FALSE)



21. /
28 e
®2¢ — s
549 124
(3
P

What is the measure of angles x, y, and z?

22.
A
Ix+£6 = 90
2x=¥4
7%} X= 12
B D C

In the above triangle, AD is an altitude. If the measure of angle BDA is 7x+6, what is the value of x?

23

In ABC, DE is perpendicular bisector of AC with Don AC. If AD = 2y +4, 0=y +12,
and m£LEDC =5(x -12)°. Find the value of x and v. Find length of 4D, DC, and, AC .

B
Zy+4d=y+i2 S(x-12)=90 E
= X -2 =1 ¥
ey <= 30 b SO

A Lyuil ytiz C

24, In the triangle below, angle bisector PL is shown. If the measure of angle RPL is 2x + 14 and the measure of
angle LPQ is 8x - 4. What is the value of x and what is the measure of angle RPL?

Zx+\Y = FxH RPL: Zx+1Y
- 203 +1Y
L= kg = ériY
1

3zx !'@;PPL S ?_o:)
- gr-4

b

[



Point S is the centroid of ARTW, RS = 4, VW =6,

and 7V= 9. Find the length of each segment.

Paint & is the centroid of A ABC, Use the given
information to find the value of the variable,

39, Fe=x+Band GA = 6x-4
Point & is the centroid of A ABC, AD = 8, A6=10,

BE = 10, AC = 16 and ¢D = 18. Find the length of 6z -H= 2(xtE)
each segment.

(x4 T 254!y

t/ we = 2.0

5

40. If €6 = 3y + 7 and CE = 6y

%(6y3= 394 7
Hy = 3y+ 3
=7 7

-\<
o




